N EH £
u:,fff,\ o o R i Als a5 BN e T/
@Bl BN ST I RBEFEERNTBIRAT

YIRLI2ZFR . LE-6014BHB
YIElES : YCM32-1
¥R : 100gXE/CMYK
EBFRS : 285x210mm
FBRER~F : 72x105mm

AP IEHE (R[X)

1]

WARRANTYCARDINFORMATION
P N :

g 1. Know your leveling base 2. Attaching your leveling base Dear SIRUI Customer,
SIRUI Thank you for your purchase of SIRUI Professional Products!

SIRUI warrants that your purchase is free from defects in materials and
workmanship under normal use during the Limited Warranty Period. The
Warranty begins on the original date of purchase on your sales receipt
and is not transferrable. If service is required, a copy of the sales receipt
must be included with an explanation of the problem.

Professional Photographic Equipment 3/8" adapter nut—@
1/4” Mounting Screw

INSTRUCTIONS ~ pren i min.,

Product Warranty Length

Tripods / Monopods / Accessories

6 years
Leveling Ball Humidity Control Cabinet (Cabinet)
LE—60 LeVeI i ng Base . Humidity Control Cabinet (Electronics) 3years
Base Leveling Control
Locking Knob Model: - _ _ _ _ . _____ Date: . _ _ _ _ _______
Store: _ _ _ _ __ _ __ __ Serial Number:

Warranty coverage can differ from region to region.
Please see the contact information below for product registration,
information and service for the region the product was purchased in.

SIRUI 6 (six) Year Limited Warranty (3 Year Warranty for Electronic Parts).
This warranty shall be limited to repair, adjustment and/or replacement at
SIRUI orits authorized distributors option, of defective parts, free of charge
(except the cost of transportation to the distributor/service center).
Responsibility is limited to the actual cost of the item. Call or Email with
questions and service before sending any product to the center in your region.
Below is a listing of contact information for Product Registration, Service
Inquiries and Questions.SIRUI will not be responsible for expenses or
inconveniences, or consequential damages to equipment, or by breach of any
expressed or implied warranties.

Limitations:

Warranty is not transferable.

This warranty covers all defects encountered in normal use of the equipment
and does not apply in the following cases:

1. Ifthe equipment has been serviced by other than an authorized SIRUI

3. Using the Leveling base Service Center.

2. Damage to the equipment is due to modification (including but not limited to,
the removal of ballhead clamps), overloading, mishandling, abuse, accident,
GUANGDONG SIRUI OPTICAL CO.,LTD. sand*, corrosives, water damage* or not following operating instructions.
Add: The Third Industrial District, Wuguishan Town, Zhongshan City, . ) ) . 3. No valid proof of purchase is provided.
Guangdong, China (Zip Code: 528458) Swivel +15° in any direction 4. Damage caused by acts of nature (including, but not limited to fires, floods or
Tel: 86-760-88897373 Fax: 86-760-88207062 earthquakes).
E-mail: info@sirui-photo.com Website: www.sirui.com

Fig 1

Warranty coverage can differ from region to region. Please see contact
information below for product registration,information and service for the
region the product was purchased in.

Swivel #15° in
any direction

Warranty Address and Contact Information:
(Please contact the seller or the local distributor where the product was
purchased for warranty issues or questions and before any product is sent.)

Fig3
1.Guangdong SIRUI Optical Co., Ltd.
The Third Industrial District, WuguishanTown, ZhongshanCity, Guangdong,
China
A Tel:0086-760-88897373 Fax:0086-760-88207062
1' Know your Ievellng base Http://www.sirui.com E-mail: info@sirui-photo.com
Service Hotline: 0086-400 830 2299
Complaint Hotline: +86-181 6563 9388
2. Attachlng your |eVe|ing base (Monday to Friday: 8:15am~12:15pm, 14:00pm~18:00pm)
H : H f H ” i 2.SIRUIUSA,LLC
@ Attach the Leveling base onto the tripod as shown in Fig. 2-1, align the 3/8” screw hole of the base with Add: 29 Commerce Court Verona, NJ 07044
” i i www.sirui.com
the 3/8 mountlng screw of the trlpOd' Service: Toll Free 866-373-0829  E-mail: info@sirui.com
@ If you want to directly attach a camera to the Leveling Base, remove the 3/8" adapter nut from the 1/4" FORPRODUCTS PURCHASED IN THE USA PLEASE SEE:
. . " For full details on USA Warranty Terms and Limitations:
Mounting Screw. If you want to connect a ball head onto the Leveling Base, make sure the 3/8" adapter https://www.siruiusa.com/warranty.html

. . . . To register products: https://www.siruiusa.com/product-registration.html|
nut is on the 1/4" Mounting Screw and attach as shown in Fig. 2-2.

3. European Service Center

Add: SIRUI Optical GmbH « Ernst-Augustin-Str.1a « 12489 Berlin + Germany

3_ Using the Leveling base Phone:+49 3099194 94 00 + Email: Info@siruioptical.eu
199/0€ $90/620 LT/ty  ¥2/09 09-71 @ To prevent a ball head from unscrewing from the Leveling Base, use an Allen key to adjust the Ball Head
qi/by Locking Screw so that it presses against the base of the Ball Head. Do not use excessive force. Use all
peoq q|/63 yauyww - ypul/ww 3 Ball Head Locking Screws for best results. Remember to loosen the Ball Head Locking Screw before
wnwixepn Wb ybiaH Japwelq X
A removing the ball head.
g m 3 e @ As shown in Fig. 3, loosen the Leveling Control Locking Knob and adjust the Leveling Ball to the desired
angle (use the bubble level on the platform for precise alignment), tighten the Leveling Control Locking
Knob.

}dey) eyeqg 09-31

Specifications are subject to change without notice.

REABEE (P30

RIE*
A ——e——
" N N s N AR :
an LINFKERATE 2ZFKFRATE I%i&?!@?ﬂ@?&%%ﬂﬂ?ﬁ | EEREATET  NREEMESN
SIRUI MERTSHAREDE , BHHESRHRBRNEERS. ERERE
RESET , EREAREEINIET (WERRE , REERES) .
shEly BT 3/8" S5 1E4RNE 4@ BHATERREHLE © 400 830 2299
kT 1/4" EEHRIRET PR RIEHAR
L\ V4 L& — i B 28
N pay=| %ET‘?@T £
{52 /A 54 BA 45k o
R JREE CELEa
LE-60KFRBTHE TETT 3
ERES WLEM:
BEEW . ______ BERE
AR
7773
B
(D) JEBEF2 S, 2SR OIS (HLFHRs 34E ) | (RIS ) I SL 2 H S
(2) s 7= TESRBL AU 20 8 i B T R S5 AL T S
(3) Ty Il L) 4RS00, e AT IR 5 I, FEBIANE S, B )
TRIRILZ S . — ST AETAS AR H A SE s 3735
1 (4) 77 RO DA% 3 S0 S A ) R, AR o e S T
HERSHITT . R T 2R ] AT EORIR S R
(5) L PR AE RIS <
@ i AR ;
@ e B A AAN B R A W L1 5
rﬁlﬁiﬂﬁiﬂi{ﬁﬁgﬁﬁﬁ] = ‘?‘(IJH&: 7 B PRI R B4 0 . .ZEI@ME‘J:
Mk TAREPUTEBELUE=ZTUR B 4% : 528458 3 -EK;;E{’E WA FIEIR O SRR
13%: 0760-88897373 £ H: 0760-88207062 AR5 #&: 400 830 2299 - NN o
gﬁéigg?:j?sigggggcom R4k www.sirui.com ‘ ?‘CE?%{EEE'H FEJ x 15 X A RIS ERBERE A ER
(PRITEE 8:15~12:15,14:00~18:00)
I
E?%Jr{?c% s HEBEDRA
HlEt15 RS
E AFEE
&3 Pt
0 %
10RKERTE (B1FixR)
R Bk
2 REKFEDE
@ ZRER2-1FAREKFPATERET=MZR L, 0/KELEA3/8 RT3 R EN3/8 4
IR, REINE SRR REZFE AL, HEARES
@ MRMFEEEZLENREZKFETE L, W3/ EZIBEM /4" HEBL EFiITT. MR Yz RTiE)
REEE—INTBEKFERATE L, HWR3/8" EFIZMENE2-2F~, REE/4"HIER A
“% k. HEEERB
BPES
3. EKIRE FRRE
o€ 620 144 09 09-11 ® AL ZEZEZEMKTEET & WIRETR, Fﬁﬁ%’ffi%ﬂﬁ:ﬁ‘fﬁgiﬁﬂ, l«)(ﬁﬂ%%]"%ié R
5 5 EENER, AHTETXK. FAMcEEEBISENRETF. ERBRZEH,
myvE @mE&s e 3E BIRBEART T A EET. e
v PN @ WMERHR, RAKEEHBEEH, BHEKRELIAETENHAE (AKFEEHELDN
® B 31 & KPR IUMRRER) |, 4R 8 8 7k T 4 A 4
S A
¥%<09-11 BHARREFRARNAT S SARTEES SRR | WHUEMHE | BFD BN,
ENRI R LA ENRIIRRER S ENERNERTE , HEEE. HEARER
e fzatia)

-~ 72mm-—»>

IREEBIrELE:
/l\/\ it

A
SIRUI

Professional Photographic Equipment

INSTRUCTIONS

LE-60 Leveling Base

105 mMm————

T
I
I
I
I
I
I
I
I
I
I
I
I
I
A o000 0O
I
I
I
I
I
I
I
I
I
I
I
I

I
/\/\ GUANGDONG SIRUI OPTICAL CO. LTD
v

o N Add: The Third Industia Dist 1 Town, Zhongshan City,
EE b Gu Chi 528456)
[=]=p) % ol - 86-760-85207062

i ohoto com Webeito www st com

A\

BETEM: &

>
ik
2
o
N



	页 1

